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TIROLER TAENZE FOLGE I continued

KATZENLEITER BOARISCHER could mean cat’s ladder or cat’s leader

and Bavarian,

Both melodies can be used for the Bavarian dance forms which are described
below, You may repeat one of them constantly or interchange the patterns.
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FORMATION: Couples on the line of the circle, facing LOD,

partners standing side by side without joining hands.

One schottisch step (change step) diagonally forward in LOD
beginning on outside feet, moving away from each other

One schottish step diagonally forward toward each other (1-2)
Take regular dance position, turn CW with four pivot steps and
two turns, moving in LOD.(3-4) REPEAT,

CLAPPING M TAKES ONE step-close to his left, turning away

from partner, then claps hands un d e r left knee, puts the

left foot down as he ¢ laps a b o v ¢ left knee, This is the
equivalent of on 2 schottisch step and a rather fast move. Then

he turns toward partner with one schottisch step.

IN THE MEANTIME W makes one turn CW with two schottisch steps
starting on outside foot, In closed hip-shoulder position dance
"Dreher” that is two CW turns with four pivot steps. REPEAT

FORMATION: Couples in regular dance position on the line of the
circle, M with back to center,
One step-close-step in LOD, one in RLOD and "DREHER", REPEAT

FORMATION: Couples on the line of the circley facing IN LOD
inside hands joined
M makes a CCW turn and W a CW turn under joined and raised
inside hands with two schottisch steps; then ”Dreher® in regular
dance position, two turns with four pivot steps, progressing
in LOD. REPEAT.
FORMATION. as in I
One schottisch step apart and one again diagonally forward
for the MAN toward the next partner, as WOMAN comes back to
the MAN BEHIND HER. "DREHER®" with that person . REPEAT.
FORMATION AS IN I.
One schottisch step- diagonally fwd. apart and one diagonally
forward to each other, (1-2) with four pivot steps turn
CH, but on the third step ( after 1/2 turn - WOMAN
IS ON INSIDE OF CIRCLE) M lifts W,who helps by jumping up
and deposits her on outside, thus completing the turn.




